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Question Id : 9209068400 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes
Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

3 e ¥ 3Fd 3d § WS,

YN g1 WaaIg Sl 9¢1 38 do-ds |
URIddd § 331 Yl gl §Hi,

3t -3 W 31U gl del Ut |
QI A T( {6 U 7 B 3R BT W,

FE A F R I & R |
A AE §Y & T8l 9971 49 &,

RIVYEY ¥4y, O Ui 0 & |
HAAR &1 & 3Gy del Y 8,

TR Sfava H YA 35 § |
g P dY FATY P TU R,

WA & S A & e 1|

9 U= & SR R Fgfeiad vl &1 3w i |

Sub questions

Question Number : 1 Question Id : 9209068401 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TG Y &1 3 ghT

(1) ESTHE (2) SfUH

3) 9dwE (4) 379 HPIg TEI
Options :

92090633201. 1
92090633202. 2
92090633203. 3
92090633204. 4



Question Number : 2 Question Id : 9209068402 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR & YR W sal P1 Yal HH g
A A 3P

B. adlg

C. WaruR

D. o]

E. Wy

1 fau v fawedi § 9 9El I &1 994 Hifor

(1) CADBE
(2) EDCBA
(33 BAECD
(4) A B CD,E

Options :

92090633205. 1
92090633206. 2
92090633207. 3
92090633208. 4

Question Number : 3 Question Id : 9209068403 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

%d’ Usq BT [AdH g

(1) R 2) aFd
(3) HIEH (4) YIHH
Options :

92090633209. 1
92090633210. 2
92090633211. 3
92090633212. 4

Question Number : 4 Question Id : 9209068404 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

A& B YaigarE Uss gnm

1y JviaE 2) TJW
(3) 9Ed @) JIW
Options :

92090633213. 1
92090633214. 2
92090633215. 3
92090633216. 4

Question Number : 5 Question Id : 9209068405 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

JURIG Ui @1 S darsd

(1) ds-ds (2) YIUIgeY
(3) WeguR (4) HISHAT
Options :

92090633217. 1
92090633218. 2
92090633219. 3
92090633220. 4

Question Id : 9209068400 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes
Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension



3 Srafeer § 3Fd 3 § @3,

e g1 WdIg Sl 9¢1 38 d9-d3|
WRERIdad 9 331 aul dgl 94,

3t -3 W 3dd gl gl uat |
T8 A Ti {6 U T 9 HTH 3R T W,

a8 7 & b oft ie & feg w1
™ HE §Y § T8l 991 [dds §,

RIS Tady U Ui 0@ ¢ |
HAIR &4 & 3G 918 7T §,

TR Sfaad T JHIE A5 |
Y B ay e ady o U Y,

WA e S A & w1

Y Ui & SR R Fgfeied vl &1 3w i |

Sub questions

Question Number : 1 Question Id : 9209068401 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TG A & o gl

(1) WSTHR (2) SU®d

(3) wdw (4) FTHIDE T
Options :

92090633201. 1
92090633202. 2
92090633203. 3
92090633204. 4

Question Number : 2 Question Id : 9209068402 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



U9 & STUR WX Nea| o1 Tal HH 8

A. Tl 3ib
B. adlg

C. AR
D. oY

E. Wy

1 fau v fawedi § 9 9El I &1 994 Hifor

(1) CADBE
(2) EDCBA
(33 BAECD
(4) A B CD,E

Options :

92090633205. 1
92090633206. 2
92090633207. 3
92090633208. 4

Question Number : 3 Question Id : 9209068403 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

%d’ Usq BT [AdH g

(1) R 2) aFd

(3) HIdH (4) YIHIHT
Options :

92090633209. 1
92090633210. 2
92090633211. 3
92090633212. 4

Question Number : 4 Question Id : 9209068404 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



YA ST YT s, g

(1) U (2) IW
(3) A @) HR
Options :

92090633213. 1
92090633214. 2
92090633215. 3
92090633216. 4

Question Number : 5 Question Id : 9209068405 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

IWRIad U= &1 e qargd

(1) dg-98 (2) YRITYEY
(3) WAMER (4) HJSdI
Options :

92090633217. 1
92090633218. 2
92090633219. 3
92090633220. 4

Sub-Section Number : 2
Sub-Section Id : 920906269
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 9209068406 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

B 3G 9 25d € | I | 3iiEl H-T SRS ¢ |

(1) &HH &SNP (2) &l PRB
(3) HIFRD (4) HdY FRS
Options :

92090633221. 1
92090633222. 2
92090633223. 3



92090633224. 4

Question Number : 6 Question Id : 9209068406 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

BH 3G 4 2%5d € | I | 3iiE dH-T SRS ¢ |

(1) &HBRD (2) Sl BNE
(3) I HRF (4) IeY B
Options :

92090633221. 1
92090633222. 2
92090633223. 3
92090633224. 4

Question Number : 7 Question Id : 9209068407 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
90 @ PIH-®H | s gfer 8

A el

B. FuN
MRd
ad

E.
-t fou Y fapedt # @ wEt IR o1 99 Sy ;
(1) &dd A B,C

2) ®&ad A CE

(3) @&dd C,D,E

(4) &dd B, CE

Options :

92090633225. 1
92090633226. 2
92090633227. 3
92090633228. 4

€.
D



Question Number : 7 Question Id : 9209068407 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TR A PP A TS IR B
A, dgral
B. $UN
c. T4
D. A
E o
A2 feu o el F @ wdt IR &1 9= P
(1) ad A B, C
(2) Had A, CE
(3) &ad C,D,E
(4) &dd B, C,E
Options :
92090633225. 1
92090633226. 2

92090633227. 3
92090633228. 4

Question Number : 8 Question Id : 9209068408 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



uiRaTie ol & Haleq # i gem
A 3mefig

B. UHAEl

C. WX

p. flm

E. AW

4 feu o fassedi § 9 wgl 3R &1 U Sif

(1) &dd A,B,C
2) dd A C, D
(3) &4dd B,C,D
4) &dd C D,E

Options :

92090633229. 1
92090633230. 2
92090633231. 3
92090633232. 4

Question Number : 8 Question Id : 9209068408 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

uifeaiie o= & “Satem J g g

A STEIURY

B. UHAE!

C. HAER

p. fim

E. AHW

-t feu e fasedl # 9 el 3R &1 994 Sifey
(1) &ad A B,C

(2) &dd A, C, D

(3) &dd B,C,D

(4) &dd C, D, E



Options :

92090633229. 1
92090633230. 2
92090633231. 3
92090633232. 4

Question Number : 9 Question Id : 9209068409 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e 1 & Iy G 11 T e S

Tei-| gt -1
A) faemmy 0 FHYRG
B) YfdER (I g
(© faam (i dIIN
(D) agds av) fe
- fau e fasedt # ¥ I8l T &1 99 Fife

(1) (A)-(V), (B)-(1I1), (C)-(1), (D)-(11)
(2)  (A)-(l), (B)-(1), (C)-(1V), (D)-(I1)
(3) (A=), (B)-(1), (C)-(1), (D)-(IV)
(4)  (A)-(), (B)-(1), (C)-(1N), (D)-(IV)

Options :

92090633233. 1
92090633234. 2
92090633235. 3
92090633236. 4

Question Number : 9 Question Id : 9209068409 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



et | & Ty Gt 1 3 e sifse

Tail-1 Tt -1
(A) faemey 0 HHYRG
B) =R () wgdife
(© faam (i dHY
(D) TgUW av) f&1
- fqu e faspedt & 9 Ol IR 31 954 S

(1) (A)-(Vv), (B)-(I), (C)-(1), (D)-(11)
(2) (A=), (B)-(1), (C)-(IV), (D)-(I)
(3) (A=), (B)-(1), (C)-(1), (D)-(IV)
(4)  (A)-(), (B)-(1), (C)-(1N), (D)-(IV)

Options :

92090633233. 1
92090633234. 2
92090633235. 3
92090633236. 4

Question Number : 10 Question Id : 9209068410 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

RuEd 5y R &1 9 8

(1) 2 (2) "R
(3) dg¥d (4) dcH
Options :

92090633237. 1
92090633238. 2
92090633239. 3
92090633240. 4

Question Number : 10 Question Id : 9209068410 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



(1) o9 (2) "
(3) dgHd (4) dcH
Options :

92090633237. 1
92090633238. 2
92090633239. 3
92090633240. 4

Question Number : 11 Question Id : 9209068411 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

S Y-RIRT YR o419 R 5 99 H, {68 o1e &R & w94 &1 g1 8l ol 87

(1) 15% (2) 5%
(3) 20% (4) 10%
Options :

92090633241. 1
92090633242. 2
92090633243. 3
92090633244. 4

Question Number : 11 Question Id : 9209068411 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HS YRR YR o411 5 9 o, fd o1el & & w9 &1 giFH! gl ol 82

(1) 15% (2) 5%
(3) 20% 4y 10%
Options :

92090633241. 1
92090633242. 2
92090633243. 3
92090633244. 4

Question Number : 12 Question Id : 9209068412 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

i A:B=1:3,B:C=2:5C:D=2:3,MA:B:C:DIAHI |

(1) 8:12:25:30 (2) 4:12:30:45
(3) Tz6:10:5 4 2:6:12:15
Options :

92090633245. 1
92090633246. 2
92090633247. 3
92090633248. 4

Question Number : 12 Question Id : 9209068412 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gfeA:B=1:3B:C=2:5C:D=2:3,AlA:B:C:DFAHY |

(1) 8:12:25:30 (2) 4:12:30:45
(3) 116 10ES 4 2:6:12:15
Options :

92090633245. 1
92090633246. 2
92090633247. 3
92090633248. 4

Question Number : 13 Question Id : 9209068413 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

38 m @ 3R 32 m 9IS UAGR AgH H 3ia3 & 3R Ush 9 Al &l I a1 ¢ | afe

T BT EFHA 600 m? &, T I%d &1 1818 8R 1l :

(1) 30m 2) 5m
3) 10m 4) 18.75m
Options :

92090633249. 1



92090633250. 2
92090633251. 3
92090633252. 4

Question Number : 13 Question Id : 9209068413 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

38 m @ 3R 32 m 9IS UAI@R AgH H 3ie3 & 3R Ush YHH dlels &1 A a1 ¢ | afe

T BT EFHA 600 m? &, a1 I%d &1 1818 aR 1l :

(1) 30m (2) 5m
(3) 10m @4) 18.75m
Options :

92090633249. 1
92090633250. 2
92090633251. 3
92090633252. 4

Question Number : 14 Question Id : 9209068414 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

&1 agell & famg Uy IuH € | U 9% B 20% g1 IR 31 W1l € a1 gOs) a%g 1 20%
T IR &= S 8 | g ey ufeerd favar g2

(1)  Ad, et (2) 2% @
3) 3% e[ 4) 4% g1
Options :

92090633253. 1
92090633254. 2
92090633255. 3
92090633256. 4

Question Number : 14 Question Id : 9209068414 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



3 axgell & fash e W € | U 9% 1 20% 11 UR S W1 § YT g 9% Y 20%
H R 91 i1l § | Y gifyary wfawrd frarn €2

(1) A, g (2) 2% @M
3) 3% e 4 4% g1
Options :

92090633253. 1
92090633254. 2
92090633255. 3
92090633256. 4

Question Number : 15 Question Id : 9209068415 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

faor, The ayn fa-re ol oM & SR 24 9, 30 RA awr 40 RA A & w&hd € | lawy
IR faTe A ue A1y 4 A & i SR b S U6 $1 Hid 3 | 162 A & &7 vm

faar ok S G e ¥ 6 37 ugd o0 &) fao iR f3H1g &1 aifty 9ig f&ar | v A
fba &= & foban 2

() 12 (2) 10
3) 8 o

Options :

92090633257. 1
92090633258. 2
92090633259. 3
92090633260. 4

Question Number : 15 Question Id : 9209068415 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



o, v ay e PR em S s 24 RA, 30 A qw 4o RA A R waa € | o
IR faie A ve A1y 4 A & i SiR fihR & U6 &1 9id 3 | 169 A 7 A sm
fa1 3R 1 R 8 I 6 37 uga &0 & ooy SR fa-ie &1 ity Iig f3ar | e A
faH &= &1 faean 2

. 12 (2) 10
B3) 8 4) 7

Options :

92090633257. 1
92090633258. 2
92090633259. 3
92090633260. 4

Question Number : 16 Question Id : 9209068416 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

#2 fRu v R fAeel are wEEl @ 39 Sesl & agEy &1 g of fiu e aqes &
O ¢ foan T = (5, 35, 45)

(1) (7,49, 65) (2) (7,49, 63)
(3) (8, 56, 90) (4) (3,56,73)
Options :

92090633261. 1
92090633262. 2
92090633263. 3
92090633264. 4

Question Number : 16 Question Id : 9209068416 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

9 fou v IR fawedl ard W=l 9 39 eHs & 9=y &1 gHu o fou MU 9= &
U ¢ f&an T g (5, 35, 45)

(1) (7,49, 65) (2) (7,49, 63)
(3) (8, 56, 90) @) (3,56, 73)



Options :

92090633261. 1
92090633262. 2
92090633263. 3
92090633264. 4

Question Number : 17 Question Id : 9209068417 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3 HYF § FH-8 YRy fiRd &

®YT . TP 93P T U HareA Fei-aR A $el “fiwell &1 9o W 6 9 8 9o 7Y §gd
3 2t (1re) 81 2 | 39 &3 A g1 Wi eNaR $ el & |

o

| Ugd & e sel-aRl J sty e & aR d o9 it &1 8 faan |

I, 3t Wis & srafed fFaT eMT 8 |

N, UdEsER 9 e s &1 guw 8 Fed uF &1 GHET g |

(1)  ad | affed e
(2) &ad |l aHRd &
(3) &dadn MRd
(4) 11 3R 1 T sraffed €

Options :

92090633265. 1
92090633266. 2
92090633267. 3
92090633268. 4

Question Number : 17 Question Id : 9209068417 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gU By § B [dury srafied @

HYT . UH 4P H U FdioH Ful-aR A el ‘el $1 956 W 6 I 8 Iof AH §gd
it Sfthas (We) 81 € | 39 & T W TS Sflay &1 Sfawgdhdl g |

qﬁm?ﬂnq
. Ugd & e Soif-rRl A Sfaid Wi & aR 1 $o siftd S 8! i |

I Y e &l HafRud fea sF g |
. UdAEsaR 9 st s &1 guwn 8 Fed uF & HeT g |
(1) &ad| saHed &
(2) Fad riRd g
(3) HadI saried &
4) 11 3R 1 ST afifed &
Options :

92090633265. 1
92090633266. 2
92090633267. 3
92090633268. 4

Question Number : 18 Question Id : 9209068418 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

o1 R GiTd gaiea & usTd U gag UId # U — AR 9 S-G90 W alddid a
W® A1 TfE o e B ST g & e I U Wl A, O o 6 fawn 9 ik e e
gs18?

(1 Wd (2) ufgm
(3) TW (4) i@
Options :

92090633269. 1
92090633270. 2
92090633271. 3
92090633272. 4

Question Number : 18 Question Id : 9209068418 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



el R Gird gaiea & uyd U gag U1d J U — gAY U STHA-910H W alddid a
W® A1 OfE offd B ST G & i A U Wl U, ot i e fawn 1 iR g
gs18?

m Y= (2) Ui
(3) SW (4) <&
Options :

92090633269. 1
92090633270. 2
92090633271. 3
92090633272. 4

Question Number : 19 Question Id : 9209068419 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

GEA-BHTIHIAB BITET & A+BHI34 A BHIHE ¢ TIaid A x BH 3 A B HI
a1 Fofafed 78 feusrsidc T M FEEAA 2

(m F-C+NxM (2) M -N=xC+F
3) N+M-FxC 4 MxN-C+F
Options :

92090633273. 1
92090633274. 2
92090633275. 3
92090633276. 4

Question Number : 19 Question Id : 9209068419 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gEA-BHIHUAB BIdg1 8 A+BHI Y ABFIHUES S TEfB A x BHI 3 A B&HI
g | Fufafad A8 bam sfc s M F A A E?

(1 F-C+N=xM 2) M-NxC+F
(3) N+M-FxC @4 MxN-C+F
Options :

92090633273. 1
92090633274. 2
92090633275. 3
92090633276. 4



Question Number : 20 Question Id : 9209068420 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

34 fadeq sl (RE) &1 F1d S S 3 Sk &1 Quf T

O ¢ @
Q9 °
o | @ 2

(1)

O @
5 35

(3) 6 (4)

Options :

92090633277. 1
92090633278. 2
92090633279. 3
92090633280. 4

Question Number : 20 Question Id : 9209068420 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



39 faweu snepfa () &1 91d B S sregg 3epfa &1 quf sam

| 9| 9
¢ [0 [0

O | B 2

O Q
?

(1)

(2)

(3) 6 (4)

Options :

92090633277. 1
92090633278. 2
92090633279. 3
92090633280. 4

Question Number : 21 Question Id : 9209068421 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
faggd a9 WaeH $I aiTee] & Ugl H S IHAT
(1) yW{XW{WW{WW
(2) XW{*{W{WW{W
(3) MW{WW{*;W{KW
4) WW{WW{TW{KW

Options :

92090633281. 1

92090633282. 2

92090633283. 3
92090633284. 4



Question Number : 21 Question Id : 9209068421 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fagga e WaeH & dileH & T8l 8 &I gFT
(1) TWQKW{WW*:MW
(2) }{W{TW{WW<W
(3) WW{WW«:*;W{KW
(4) WW{WW{yW{KW

Options :

92090633281. 1
92090633282. 2
92090633283. 3
92090633284. 4

Question Number : 22 Question Id : 9209068422 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

& Sdl TREU Ud Ol YUYl &1 YRl & & # I TN g e &
SYH M AFISa g |

(1) SlEc 4l g, onad (2) Sl U Rig
(3) Yo dre SgIon (4) ETEl STHS
Options :

92090633285. 1
92090633286. 2
92090633287. 3
92090633288. 4

Question Number : 22 Question Id : 9209068422 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1 Giel TREUI Ud o ST B Y& & &7 H 39d NTGH g dIcyH i &
EYH W IS |

(1)  SlEed 9l Uy, onad (2) Sl g g
(3) Yo W S TN (4) dTdl 3HTHE
Options :

92090633285. 1
92090633286. 2
92090633287. 3
92090633288. 4

Question Number : 23 Question Id : 9209068423 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

It | & |y g 1| &1 i Fifen

Hl-| gt -l
(A BREA () PR
(8) i (I S
(€) drEA () TERE I
D) fifem (Iv) F=i0 fedia

19 feu v fawedi § § 9l IR &1 954 Difere:
(1) (A=), (B)-(I1), (C)-(1), (D)-(IV)

(
(2)  (A)-(), (B)-(IV), (O)-(1), (D)-(1I)
(3) (A=), (B)-(In), (O)-(1), (D)-(1)
(4) (-, (B)-(1V), (Q)-(1), (D)-(In)
Options :

92090633289. 1
92090633290. 2
92090633291. 3
92090633292. 4

Question Number : 23 Question Id : 9209068423 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Il | & |y = 11 P fAeE S

- gt -
(A BReA () PR
(B) hIfeiar 1y T
(C) o8 () SERE
D) fifem (Iv) == facta

19 fau e faredi # 9 Tl IR &1 98- i
(1) (A)-(I), (B)-(11), (©)-(1), (D)-(IV)

(1)
(2)  (A)-(l), (B)-(IV), (O)-(1). (D)-(IlI)
(3)  (A)-(V), (B)-(1), (O)-(N), (D)-(N)
4) (A=), (B)-(1v), (Q-(1). (D)-(1)
Options :

92090633289. 1
92090633290. 2
92090633291. 3
92090633292 4

Question Number : 24 Question Id : 9209068424 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

CIERACAIC AU
HUF| :  AYATST H SIS Jdg BT & CO2, N20 IR g9 &1 Jufufd & SR g g

HUFIl:  dgHSd P IAR TR R YT 3I6H Fag, g4 & Fda- arell wrer fafdsolt &
el &Y UAg BT & B 8

IR Y & 3cid |, i G 710 [ddedl d I 98l IR &1 994 Sifole
(1) &Y IR NS 9 B
(2) YA SR I SHI Tad @

(3) Y| TEl ., Al FYA 11 TTad &
(4)  HYF | TTAd g, fh HYF 11 981 8

Options :
92090633293. 1



92090633294. 2
92090633295. 3
92090633296. 4

Question Number : 24 Question Id : 9209068424 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

RFFARUME
®YF| ;. dgHUSH H SIS Hdg B &l CO2, N20 3R 8= & IufRyfd & SR gld ¢

U1 dYHST P IR TR R Y 3G Fde, Y o Faa arell grra= fafdson 3
gud} 1 Yg BT T B 8

I HYA & 3fdld H, [ S0 710 [deedi & 9 9l I &1 994 Sifow

(1) YR IESAFE 8
(2) @Y1 R 11 SH e §
(3) &Y | HEl g, dlchd Sy 11 TTed &
(4) Y| T g, Al DY || Uel 8

Options :

92090633293. 1
92090633294. 2
92090633295. 3
92090633296. 4

Question Number : 25 Question Id : 9209068425 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ford wrex A Ty eftd e WK 2022 Ui {41 82

(1) ¥R (2) IRR
(3) gaEg 4) UM
Options :

92090633297. 1
92090633298. 2
92090633299. 3
92090633300. 4



Question Number : 25 Question Id : 9209068425 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ford weR A fay efvd e Qe R 2022 U fsa1 82

(1) &R (2) aRRe
(3) BaXEIg 4) TeAH
Options :

92090633297. 1
92090633298. 2
92090633299. 3
92090633300. 4

Part B: Nanoscience

Section Id : 920906168
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Yes
Response :

Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 920906270
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 9209068426 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The Element having lowest first ionization energy is:

(1) Lead (2) Carbon
(3) Silicon (4) Tin
Options :

92090633301. 1



92090633302. 2
92090633303. 3
92090633304. 4

Question Number : 26 Question Id : 9209068426 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

o weitde 3 9§ PR smaHieu Sl ard &1 98- &)

1y o8 (2) HlEA
3) FfeeE 4) feq
Options :

92090633301. 1
92090633302. 2
92090633303. 3
92090633304. 4

Question Number : 27 Question Id : 9209068427 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which semi conductor material has Direct Band gap?

(1) Silicon Semi conductor (2) Germanium Semi conductor
(3) Silicon Semi conductor at T=0°C (4) Gallium Arsenic
Options :

92090633305. 1
92090633306. 2
92090633307. 3
92090633308. 4

Question Number : 27 Question Id : 9209068427 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ag asfara® e form- dien &=1a 7 22

(1)  fofeem e (2) SHATH S
3) TafasH seEes 1=0°C W (4) TferH HREAS



Options :

92090633305. 1
92090633306. 2
92090633307. 3
92090633308. 4

Question Number : 28 Question Id : 9209068428 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The following which helps in initation of transcription is:

(1) Rho factor associated with RNA polymerase
(2) Small ribosomal unit
(3) Sigma factor assoiated with RNA polymerase

(4) tRNA amino acid complex

Options :

92090633309. 1
92090633310. 2
92090633311. 3
92090633312. 4

Question Number : 28 Question Id : 9209068428 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e 3 9 T SeE SRRE dl 87
(1) RNA Tl ¥ ¥&Y Rho 9¢&
) IREHEHEA gHe

(3)  RNA UTcHAYE ¥ T R thaey
(4)  tRNA Bl 3 Tgg

Options :

92090633309. 1
92090633310. 2
92090633311. 3
92090633312. 4

Question Number : 29 Question Id : 9209068429 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

The statement(s) which is/are incorrect:

(A) Every reaction has an order
(B) For all the reaction units of rate and rate constants are different
(C) Every reaction goes to completion

(D) Unimolecular reactions are those in which molecularity does not always correspond to
order

Choose the correct answer from the options given below :

(1) (B) only
(2) (C) only
(3) (D) only

(4) (A), (B) and (C) only

Options :

92090633313. 1
92090633314. 2
92090633315. 3
92090633316. 4

Question Number : 29 Question Id : 9209068429 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

9 09 3 Sy &9 B

@) ot forareft &1 U BE BT B

@)  fi formad & ol gr @t e qun & FRris i g

© i foramg aEE @ &R 9 B

(D) UH Ay a4 gt 81| o enfoaswar Wea &0 & 90-ay gl & ¢

=itd feu e faded § © 98l IR &1 994 ST
(1)  &dd (8)
2 &9 (Q)
3)  &dd (D)

4)  Pad (A), (B) 3R (D)

Options :
92090633313. 1
92090633314. 2



92090633315. 3
92090633316. 4

Question Number : 30 Question Id : 9209068430 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One is labelled as Assertion (A) and the other is labelled as
Reason (R).

Assertion (A) : The Zeroth Law suggests that when two systems X and Y, are in thermal
equilibrium, there must be a physical quantity that has the same value for both.

Reasons (R) : If X and Y are separately in equilibrium with Z, Tx=T: and T,=T;, this implies that
T_q:T:,.-

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)

(3) (A) is correct but (R) is not correct
(4) (A) is not correct but (R) is correct
Options :

92090633317. 1
92090633318. 2
92090633319. 3
92090633320. 4

Question Number : 30 Question Id : 9209068430 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



i 21 By AU T € UF 3fUFHYT (Assertion A) & ¥ T fAifad 8 o g8 I¥d HRUI (Reason R)
F =0 ff;

AP A :  OIRY A AT 94 &1 a4 aul A Sged 3 g1 9d U Hifds am | 396 il

T 919 gl 91fgu|
FHRUIR: & Y AU Y AT 2 6 Y Gga H 8, T,=T. U1 T,=T, ST aredd @ T.=T,
IR YA & Hdid §, i {40 70 fasmed! § F 99 I9gad I &1 99 Hifeg

(1)  A3RREH Tl € 3R R, A DI Tel AR
2) AR RIH Tl g, AFAR, A B Ug! ARS8l &
(3) AWEIE, AP RS TR &
(4) AGTEIE AfPTIRILE

Options :

92090633317. 1
92090633318. 2
92090633319. 3
92090633320. 4

Question Number : 31 Question Id : 9209068431 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :
Statement | : HERZ is a type of receptor tyrosine kinase involved in regulating cell
growth and division in breast cancer.

Statement |l :  Treatment with Herceptin for HER 2 subtype involves binding of Herceptin
to HER 2 receptors in place of the usual signaling molecular where signaling
blocked and excessive cell division does not occur.

In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement | and Statement Il are correct

(2) Both Statement | and Statement Il are incorrect

(3} Statement | is correct but Statement Il is incorrect

(4) Statement | is incorrect but Statement Il is correct
Options :

92090633321. 1
92090633322. 2
92090633323. 3



92090633324. 4

Question Number : 31 Question Id : 9209068431 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fad wuE Ru e :
HUYT| :  HER 2 S HER H UF UG B39 UHR &1 TR0 ¢ ol SIRID] gl adl faumem
s &1 Sr Fea g

FUTI:  HER 2 IUUDR & feche ¥ e8P, HER 2 Tede! 9 I Haid a2 Hufai & ®H
R TSI g Wel H&H aul iiad i [ & ol 8|

JURIad HYH & e H, Al fGu 7 faweal # O Tat 3u &1 99+ Sifee:

(1) ®YHFI ARSI T8

2) By R I gE s R

(3) HYTI T g, A BY 1l 3TA
(4) TYIAHEIE, AP DY 1 T §

[l

Options :

92090633321. 1
92090633322.2
92090633323. 3
92090633324. 4

Question Number : 32 Question Id : 9209068432 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The most acidic compound from the following is:

(1) CLO; (2)  PaO1p
(3) S0: (4) B:0s
Options :

92090633325. 1
92090633326. 2
92090633327. 3
92090633328. 4

Question Number : 32 Question Id : 9209068432 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



7 # O galide 2ty gerd &1 999 &Y

(1) Cl:Oy (2) PsOno
(3 S03 (4) B:0:
Options :

92090633325. 1
92090633326. 2
92090633327. 3
92090633328. 4

Question Number : 33 Question Id : 9209068433 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Hall effect is useful in determining which property of semiconductor materials:

(1) Resistance of semiconductor
(2) Capacitance of semiconductor
(3) Types of semiconductor, n-type or p-type

(4) Fermi energy level

Options :

92090633329. 1
92090633330. 2
92090633331. 3
92090633332. 4

Question Number : 33 Question Id : 9209068433 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gTd WU HeiaTad verdl & e o1 & Mo & w5 §

(1) TP B WY (2) SHEETeID i Ui
(3)  HHEUIES FTUSR, n-USR A pUBR  (4) HH Hol &R

Options :

92090633329. 1
92090633330. 2
92090633331. 3
92090633332. 4



Question Number : 34 Question Id : 9209068434 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If the oligonucleotides of size 250 bp, 180 bp, 500 bp and 100 bp are separated on agarose gel
using agarose gel electrophoresis. The oligonucleotide that will be on second last position is:

(1) 100 bp (2) 180 bp
(3) 250 bp (4) 500 bp
Options :

92090633333. 1
92090633334. 2
92090633335. 3
92090633336. 4

Question Number : 34 Question Id : 9209068434 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g 250 bp, 180 bp, 500 bp TUT 100 bp HTHR I A IFCTECHS B Od FAdC BN gRI TUE
o T § o9 sifm © gd ard ®F W anferigferieras g

(1) 100 bp (2) 180 bp
(3) 250 bp (4) 500 bp
Options :

92090633333. 1
92090633334. 2
92090633335. 3
92090633336. 4

Question Number : 35 Question Id : 9209068435 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose correct statement(s) from the following:

(A) Complex reactions are always zero order

(B) The higher the activation energy, stronger is the temperature dependence of the rate
constant.

(C) The lower the activation energy stronger is the temperature dependence of the rate
constant.

(D)  The catalyst avoids the slow, rate-determining step of the uncatalyzed reaction.

Choose the correct answer from the options given below :

(1) (A) & (B) only
(2) (B) only
(3) (C) only
(4) (B) & (D) only

Options :

92090633337. 1
92090633338. 2
92090633339. 3
92090633340. 4

Question Number : 35 Question Id : 9209068435 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 & @ ol FuA &1 95 B

(a)  wifea fopar 9ea I 1S &1 gl g1

B) I 3uoH G aH IR &Y f&Ri® &1 arg frfar ot gnft
© I Sl g W aR RIS 31 arg fFdvar st g
D) oM foran # GaR® it 1fa e 3 saar g

JURIdd Y & el 1, Hid iy 7 fasedi § 8 998 Iugdd TR & o989 DIl
(1)  &dd (A) TUT(B)

(2)  dd (B)

3) & (0)

(4)  hdd (B) AT (D)

Options :

92090633337. 1
92090633338. 2
92090633339. 3



92090633340. 4

Question Number : 36 Question Id : 9209068436 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One is labelled as Assertion (A) and the other is labelled as
Reason (R).

Assertion (A) : First law of Thermodynamics states that AV = AQ+AW

Where AQQ= Heat supplied to the system by surroundings
AW= Work Done by the system

AV= Change in internal energy

Reasons (R) : According to I* of Thermodynamics All the amount of Heat given can be

converted into work and all work can be converted into Heat for Iso thermal
process in Ideal gas AQ=AW.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)

(3) (A) is correct but (R) is not correct
(4) (A) is not correct but (R) is correct
Options :

92090633341. 1
92090633342. 2
92090633343. 3
92090633344. 4

Question Number : 36 Question Id : 9209068436 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



i 21 sy AU U § U 3fUFHUA (Assertion A) & ¥ T ffad g € g8 3Wd HRUI (Reason R)
G| ff;

Afipua A - anfde! @ vy T Sgar g
AU = AQ + AW
el AQ = FIgY U - &I T S
AW = 4 g1 a1 T s
AU = =it Fol § sead

PRUR: arg iaet & vy Faw ouR & T e & 9RO SR & a5 o gl gl
ST 7199 | THANg sawil § R &1 S8 3 95l off 96l 1 AQ = AW

TURIG U & JHTeld G, #d fGU 7Y fadhedl 1 4 9ad Jugad JoR &1 94 STy

(1) AMRREH TEI € AR R, AT UG AR §
(2)  AJRRIHE TG E AfFAR AT U RN TE &
(3) AWGIE UGIRET Gl ¢
(4) ARG AfbT R €
Options :

92090633341. 1
92090633342. 2
92090633343. 3
92090633344. 4

Question Number : 37 Question Id : 9209068437 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One is labelled as Assertion (A) and the other is labelled as

Reason (R).

Aszsertion (A) : Membrance bound cell organelles like endoplasmic reticulum, Golgi
apparatus and lysosomes are considered together as endomembrane
gystem.

Reasons (R) : Cell organelles belonging to endomembrance system have similar structure
and function

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3) (A) is correct but (R) is not correct

(4) (A) is not correct but (R) is correct



Options :

92090633345. 1
92090633346. 2
92090633347. 3
92090633348. 4

Question Number : 37 Question Id : 9209068437 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

iﬁﬁﬁﬁﬂ‘lﬁqm%’%&ﬁ@ﬂ? (Assertion A}%Fﬂﬁﬁl@ﬂ%ﬁlmmmmeasm R)
£ e

i A - Rl @ 92 SIS oFi® o TSTanei® Yeiagad, Teel Toed T aaardd
&I T ¥ 1 3id: el o Hel o 2|

FRUR : 3ict:Freetl o < T BRI 31 BT qdl SEAT § I g ¢l
IR HYA & Hedld T, e AU M0 fawedl & 8 98 Iugerd I &1 994 STy

(1) A3MRRTH Tl € 3R R, A DI Tg! TS &

(2) AR REH Tl g, Afd R, A B Te! TS Tal §
(3) AWEE ABIRES TR

(4)  AGEIEIE Al R UG B

Options :

92090633345. 1
92090633346. 2
92090633347. 3
92090633348. 4

Question Number : 38 Question Id : 9209068438 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The compound not having (S-S) bond is:

(1) H25:06 (2) SaN:
(3) H2%5:07 (4) H5:05
Options :

92090633349. 1
92090633350. 2
92090633351. 3
92090633352. 4



Question Number : 38 Question Id : 9209068438 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

S — S &% A B aTdl Ugr &1 99 &Y -

(1) H2S206 (2) SaN:2
(3) H25207 (4) H5:0s
Options :

92090633349. 1
92090633350. 2
92090633351. 3
92090633352. 4

Question Number : 39 Question Id : 9209068439 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The Resistance of Extrinsic semiconductor p-n function Diode varies with forward voltage as :
(1) Decrease with forward voltage increase
(2) Increase with forward voltage increase

(3 Independent of forward voltage

(4) First increase and then constant with forward voltage

Options :

92090633353. 1
92090633354. 2
92090633355. 3
92090633356. 4

Question Number : 39 Question Id : 9209068439 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e HIAEF p-n B SHTE BT UCRIY 2 dieew & Iy 9 0 J sgad g

(1) 3@ dlees gig & 91y gedl gl
(2) 3@ dieew dis & 1Y edl gl
(3) S dlees W MR TE gl
(4) Ugd dadl ¢ 9yl b e diee™ & Oy AR g 9 g

Options :

92090633353. 1
92090633354. 2
92090633355. 3
92090633356. 4

Question Number : 40 Question Id : 9209068440 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Bacteria can protect themselves from invading viral infection through wviral DNA by the action
of enzyme:

(1) Ligases (2) Alkaline Phosphatase
(3) Restriction Endonucleases (4) Hydrolase
Options :

92090633357. 1
92090633358. 2
92090633359. 3
92090633360. 4

Question Number : 40 Question Id : 9209068440 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SHaT] ST fquTY] & fammu] DNA TTem 3 3-haRH & W99 &1 -1 TolgH & UuTE 9 §9dT ¢

(1) «EE (2) Ushonsd BrEbed
(3) AEPIA TSI (4) TESKH
Options :

92090633357. 1
92090633358. 2
92090633359. 3
92090633360. 4



Question Number : 41 Question Id : 9209068441 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One is labelled as Assertion (A) and the other is labelled as

Reason (R).

Aszsertion (A) : Based on molecular orbital approach for both CO and NO+, the bond order

18 2.5
Reasons (R) : (0O and NO+ are isoelectronic species.
In the light of the above statements, choose the most appropriate answer from the options
given below :
(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(3 (A) is true but (R) is false

(1) (A) is false but (R) iz true

Options :

92090633361. 1
92090633362. 2
92090633363. 3
92090633364. 4

Question Number : 41 Question Id : 9209068441 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



faﬁgﬁmmﬁﬁﬁ{ﬁ@tﬁ{ﬁsseninn A) & ¥0 ¥ fofad § o g1 3% BRI (Reason R)
4

YT A : 0T e [TUR & SFER CO TYI NO* GF! &1 54 H 2.5 8
FRUIR: CO TUT NO+ T e~ Hford g1
JURIG HYA & el H, Hid fGu T fadedi § § 968 Iugdd Jai &1 994 Doy

(1) ASRREATEI € 3R R A DI T BT ©

(2) A SRR IH G ¢ dfdb R, A B TE TS T8l ©
3) AUSE AfFTR S TR

(4) A HEIEIE, AfbI R TRl ©

Options :

92090633361. 1
92090633362. 2
92090633363. 3
92090633364. 4

Question Number : 42 Question Id : 9209068442 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(Given below are two statements ; One ig labelled as Assertion (A) and the other is labelled as

Reason (R).

Assertion (A) : Silicon and Germanuim are both Indirect Band gap semiconductor
materials.
Reasons (R) : The position of Fermi energy level in Silicon and Germanuim semiconductor

are below valance Band at Temperature T=0° C

In the light of the above statements, choose the most appropriate answer from the options

given below :

(n Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(3) (A) is true but (R) is false

(4) (A) iz false but (R) is true



Options :

92090633365. 1
92090633366. 2
92090633367. 3
92090633368. 4

Question Number : 42 Question Id : 9209068442 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ard 31 FYA BT T §: UF HUFUA (Assertion A) & w9 H ff&d g o1 gER1 39% BRI (Reason R)

FEY H

AHipYF A . R aur oRam 1 3y RId 97 sfefara gard gl

HRUIR - fafeemm aur oRfFag adees 3 vl F9f TR &1 49T agEE T = 0°C R 30
T 4 i< g g

JWRIF HYH & el H, =i fGu U fasedl 8 € 998 Jugdd IR &1 999 Pifdg

(1) A3ARRGAIHE E 3R R A DI TS ABA ©

(2) AMRREHE G g AR A DI HE BT TEl §
(3)  AWEIE Afh R TG el &

(4) AR TEE AP RTEIR

Options :

92090633365. 1
92090633366. 2
92090633367. 3
92090633368. 4

Question Number : 43 Question Id : 9209068443 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The correct sequeuce of functional directionality in Golgi apparatus is:

{A)  Vesicles form and leave Golgi carrying certain products to other locations.
(B) Cisternal maturation, Golgi cisternae move in a cis to trans direction.

() Vesicles move from ER to Golgi.

(D)  Vesicles transport some proteins backward to less mature Golgi cisternae, where they
function.

(E) Vesicles coalesce to form new cis Golgi cisternae
Choose the correct answer from the options given below :
(1) C—E—B—-D—A

(2) C—E—-B—A-D

(3) C—E—-AB-D
(4) B—-C—E—-A-D

Options :

92090633369. 1
92090633370. 2
92090633371. 3
92090633372. 4

Question Number : 43 Question Id : 9209068443 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

sl JUHV &1 feharates fmanfadr &1 Hgl &H 98 3

A e Moot A & auT 39 BIS &l 8, 9 ITE! I dbR 3= WIF P fou)
B. fieq uftys, mesht e R 9 oiv figan & sgar g1

C. YfEgdlER I Mieall BT 3R dgcl g

D. YRRHI $& UlcH &I a/gyd HH IRUS Ticoll F&e-1 UR dldl & el d &1 &l g
E. Uit dafia g F41 R oot Ried & g1

+rd feu e fasedl & @ 9l IR &1 99 Difore ;

(1) CoE=-B—=>D—>A
(2) CoE—=B->A->D
(3) Co>E=>A—-B->D
(4) B>Co>E—>A->D



Options :

92090633369. 1
92090633370. 2
92090633371. 3
92090633372. 4

Question Number : 44 Question Id : 9209068444 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The band having minimum bond energy is :

(1) C-C 2) 0-0
(3) S-8 (4) P-P
Options :

92090633373. 1
92090633374. 2
92090633375. 3
92090633376. 4

Question Number : 44 Question Id : 9209068444 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FEaH g% FHull dlcl 9% &1 99 61 -

Y €—C ey o P

(3) 5—5 4 P—P
Options :

92090633373. 1
92090633374. 2
92090633375. 3
92090633376. 4

Question Number : 45 Question Id : 9209068445 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Fermi energy of an electron in free electron gas at absolute zero temperature depends on
temperature as

(1) Epec T3 (2) ZpxT?
(3) ¥ o T2 (4) E¢ Independent on temprature
Options :

92090633377. 1
92090633378. 2
92090633379. 3
92090633380. 4

Question Number : 45 Question Id : 9209068445 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e 39e 19 8 3ddeM &1 BH el IRH Y- d9HH R g w0 8 iR @b 8|

(1) Er o T2 () Epoc T2
(3) TeacTH (4) T ITOHMA R AR A5
Options :

92090633377. 1
92090633378. 2
92090633379. 3
92090633380. 4

Question Number : 46 Question Id : 9209068446 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fluid mosaic model explains the structure of plasma membrance, according to this model the
component of it which is quasifluid in nature is:

(1) Lipid (2) Protein
(3) Only integral protein (4) Only peripheral proteins
Options :

92090633381. 1
92090633382. 2
92090633383. 3
92090633384. 4

Question Number : 46 Question Id : 9209068446 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

T3E b Hisa @l el & @va @1 aftfa & 81 39 Hisd & 9R 39&1 Seaid
IR A g 1 (R 5

(1) o= (2) WeH
(3) HHE S UleH (4) HHE Wi el
Options :

92090633381. 1
92090633382. 2
92090633383. 3
92090633384. 4

Question Number : 47 Question Id : 9209068447 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The vapour pressure of a liquid in a closed vessel depends on:
(A) Quantity of the liquid.

(B) Temperature of the liquid.

() Surface area of the liquid.

(I Boiling temperature of the liquid.

Choose the correct answer from the options given below :

(1) (A) and (D) only

(2) (B) only

(3) (B) and (C) only

(4) (B) and (I)) only

Options :

92090633385. 1
92090633386. 2
92090633387. 3
92090633388. 4

Question Number : 47 Question Id : 9209068447 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Tt 9= Ger T ave &1 9 grd e O PR S g
A, TRd S HE

B. ORd @I dHH

C. A $Igdg eA%d

D. ORd &I ®HYD

1 feu ¢ fadedl § 9 el I &1 994 Hifld :

(1) &ddA D
(2) HdAB
(3) $HadB, C
(4) HAdB, D
Options :

92090633385. 1
92090633386. 2
92090633387. 3
92090633388. 4

Question Number : 48 Question Id : 9209068448 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement [ :  Heterojunction Bipolar transistor (HBT) in more efficient then Bipolar

junction transistor (BJT) in High frequency range.

Statement 11 :  Heterojunection Bipolar transistor have heavily Doped base region and a

lightly Doped emitts region just opposite of BJT.

In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement I and Statement [T are true

(2) Both Statement I and Statement II are false

(3) Statement [ is true but Statement 11 is false

{4) Statement [ is false but Statement I is true

Options :

92090633389. 1
92090633390. 2
92090633391. 3
92090633392. 4

Question Number : 48 Question Id : 9209068448 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A G e fu M E:

FUF| ﬁmagrﬁfiﬁgaﬁummmﬁﬁﬂwmmmﬁWWMﬁm
qag gl

T faumel feydia Tiftier @ 3= SIe YR &7 81 ¢ au Us g S’ Irdd &
BJT & UdcH [Auiid A €l gl

JURIad HYA & ATdie |, Al iU U fdwel 4 Tt 3udad! 994 Sifeig:
(1) SYFIARNSHITdE

(2)  ®YTI IR I T A

3) HYFI T T AfhA U I ITHE

4) FUFI3EAE AT PUT I T



Options :

92090633389. 1
92090633390. 2
92090633391. 3
92090633392. 4

Question Number : 49 Question Id : 9209068449 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(Given below are two statements ;

Statement [ :  Normal clotting depends on adequate level of vitamin K in the body.

Statement 11 : Vitamin 'k’ is a fat-insolutle vitamin.

In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement I and Statement IT are true
(2) Both Statement I and Statement II are false
(3) Statement [ is true but Statement 11 is false
(4) Statement [ is false but Statement I1 is true

Options :

92090633393. 1
92090633394. 2
92090633395. 3
92090633396. 4

Question Number : 49 Question Id : 9209068449 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



g By U §:

FYTI| - AT ydeT o fob forar TR B fderiE-k & 9gfad 'R w ik axar gl
U [GedE-k a9 syanRia e 8|

SWRIed HYH & el H, e fau 7 famedl 7 & 95t S 99 S

(1) USRI gd

()  HYFI AR I SH AT

(3) YA FH g, A FUT I ST
(4) YT MTA €, Alch B 11 TA

Options :

92090633393. 1
92090633394. 2
92090633395. 3
92090633396. 4

Question Number : 50 Question Id : 9209068450 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Pair of hard acid and soft acid respectively are:

(1) LT and Fe3* (2) BeZ* and APY
(3)  Ag™ and Hg?* (4) Be?* and Pd?+
Options :

92090633397. 1
92090633398. 2
92090633399. 3
92090633400. 4

Question Number : 50 Question Id : 9209068450 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

PR 3 YT T4 37 T SIS HHI ¢ -

(1) Lit dulFe3* (2) Belt Ut ARt

(3)  Ag™ dUTHg?*t (4) Bel* AU pd2t

Options :



92090633397. 1
92090633398. 2
92090633399. 3
92090633400. 4

Question Number : 51 Question Id : 9209068451 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The fermi energy of a metal does not depend upon:
(1) Number of free electrons in the metal.
(2) Volume of the metal.

(3) Size of the metal.

(4) Density of free electron in the metal.

Options :

92090633401. 1
92090633402. 2
92090633403. 3
92090633404. 4

Question Number : 51 Question Id : 9209068451 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

o7 ! gad il -1 IR 1R T8 g

(1) o1 ¥ Had by DI GE (2)  HTg T ST

(3) I BT DR (4) T & gaH FeideT &I 9
Options :

92090633401. 1
92090633402. 2
92090633403. 3
92090633404. 4

Question Number : 52 Question Id : 9209068452 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following lack’s Major Histocomptability Complex (MHC) antigen

(1) Lymphocytes (2) Monocytes
(3) Eryvthrocytes (4) Neutrophils
Options :

92090633405. 1
92090633406. 2
92090633407. 3
92090633408. 4

Question Number : 52 Question Id : 9209068452 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

5 A UgE SaagEia UidsH (MHC) &1 S41d gidl 8|

(1)  fameiamed (2) HHENEEeY
(3) TUEEed (4) Eitherd
Options :

92090633405. 1
92090633406. 2
92090633407. 3
92090633408. 4

Question Number : 53 Question Id : 9209068453 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are some molecules/species. Arrange them is inereasing order of bond order.

A M2
B. 0:
C. Nz
D. (o]y
E: 02>

Choose the correct answer from the options given below :

(1) A CBDE
(2) C.DEBA
(3) EED B CA
(4) EDCBA

Options :

92090633409. 1
92090633410. 2
92090633411. 3
92090633412. 4

Question Number : 53 Question Id : 9209068453 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 B T T apait wenfa &1 399 S~FH & ged HH H ATaied B -

A Ma

B. O:

62 Nz

D. O

E. 02

i feu g fashedt # 9 Tl 3R &1 99 Sifog :

(1) ACBDE
(2) C.DEBA
(3) EEDBCA
(4) EDCBA

Options :

92090633409. 1
92090633410. 2
92090633411. 3



92090633412. 4

Question Number : 54 Question Id : 9209068454 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(Given below are two statements :

Statement [ . Light Emitting Diode (LEDs) are made up of Direct Bond Gap

semiconductor materials.

Statement 11 :  Light emission is most efficient for Direct materials in which electron
can drop from conduction bond to valance Bond without changing K

(propagation contant)

In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement I and Statement I1 are correct

(2) Both Statement I and Statement I are incorrect

(3) Statement I is correct but Statement I1 is incorrect
(4) Statement I is incorrect but Statement IT is correct
Options :

92090633413. 1
92090633414. 2
92090633415. 3
92090633416. 4

Question Number : 54 Question Id : 9209068454 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e faume:
FU| . USRI ITuD SHIS BT AR e gudln siaa aefes gen 9 gl g

U U Ieqor AU gerdl § Hatiere el |rde gerdl J g forid soide dded 9y §
iR a6 g R &A1 (K TaTeyl fRRi®) s5a o ¢

JUIa BYH & 3Tdie H, Hid iU T fdwedl O 9 T8t Sudd! 994 DIfig:

(1) FYFIARNTAITIE

@) USRI SH s R

(3)  HUT | A g, Ak HYA 1| A &
(4) Y| [ E, Albd FUA I T E

Options :

92090633413. 1
92090633414. 2
92090633415. 3
92090633416. 4

Question Number : 55 Question Id : 9209068455 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement [ :  The hormone Melatonin contributes to the setting of biological clock of
the body.

Statement 11 : It is liberated in the body in response to visual input from the eve
(retina),

In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement I and Statement I are true
(2) Both Statement I and Statement [I are false
(3) Statement [ is true but Statement I is false

(4) Statement [ is false but Statement II is true



Options :

92090633417. 1
92090633418. 2
92090633419. 3
92090633420. 4

Question Number : 55 Question Id : 9209068455 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

4 g wyE Ru e &

S| ;. e g IR & o US! & R1ftd $ 3 9REE St ¢
HUTII:  TE IR oG (fen) & 7w 37Ye U fAdadr g1

JURIS DY & e J, Aid fau e fasedl § 8 98t Il 99+ Hifie:

(1) HUFI AR NS T8

(2)  BYFI R I SH AT

(3) @Y g, A YA 1l A §
(4) TUIHEAE, AP P I T

Options :

92090633417. 1
92090633418. 2
92090633419. 3
92090633420. 4

Question Number : 56 Question Id : 9209068456 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The solvent uszeful to differentiate between acids and also used for Level of bases ia:

(1) NH; {2) Hydrazine
(3) CH: COOH (4 H:COHH:
Options :

92090633421. 1
92090633422. 2
92090633423. 3
92090633424. 4



Question Number : 56 Question Id : 9209068456 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
dg fadmae S sl § 3 X aul &R & &R & fod Heeaqul § &1 994 B

(1) NH3 (2) BHSMH
(3) NH3; COOH (4) H:C COMH:
Options :

92090633421. 1
92090633422. 2
92090633423. 3
92090633424. 4

Question Number : 57 Question Id : 9209068457 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

To study erystal structure of radiation employed is :

(1) Infra-Red (2) Visible
(3) X-rays (4) Ultra violet
Options :

92090633425. 1
92090633426. 2
92090633427. 3
92090633428. 4

Question Number : 57 Question Id : 9209068457 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

foreht forea @t e & wgaa fafeseon, a2

(1) 3Hawad (2) Tegad
3) XX (4) TRIETH
Options :

92090633425. 1
92090633426. 2
92090633427. 3
92090633428. 4



Question Number : 58 Question Id : 9209068458 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The properties which are lost during auto immunity are:

(A) Memory

(B) Ability to differentiate between self and non self cells
() Intensified secondary response
(D Prevention of response to self antigens

(E) Activity of regulatory T cells

Choose the correct answer from the options given below :
(1) (A), (C) & (E) only

(2) (B), (D) & (E) only

(3) (A), (B) & (D) only

(4) (B), (C) & (E) only

Options :

92090633429. 1
92090633430. 2
92090633431. 3
92090633432. 4

Question Number : 58 Question Id : 9209068458 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



w yfeRifer 3 s T &1 S g1 S g

A Ed

B. ¥ dYI W I # fang &1 &mar
C. X @ 9dg &A%d

D. WufdeH & Ufd 3R &1 A &1
E. T IR Faau &l

=iid feu e fawedi # | TEl 3 &1 99 Difor -

(1) dd A CTUIETH
(2) hdd B, DAUIEHHA
(3) hdd A BTYIDUH
(4)  hdd B, CTYIEHHA

Options :

92090633429. 1
92090633430. 2
92090633431. 3
92090633432. 4

Question Number : 59 Question Id : 9209068459 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List T with List IT :

List I List 1T
(Compound) (Geometry)
(A BF: (Il Octahedral
By XeF: (I) Pentagonal bipyramid
(Cy IFs (IIT) Trigonal planar
Dy WFs (IV) Linear

Choose the correct answer from the options given below:

(1) (A)-(IV), (B)-(I1), (C)-(1), (D)-(I)
(2) (A)-(IID), (B)-(IV), (C)-(I1), (D)-(I)
(3) (A)-(L), (B)-(I), (C)-(II), (D)-(IV)
(4) (A)-(D), (B)-(IV), (C)-(I11), (D)-(1I)

Options :
92090633433. 1
92090633434. 2



92090633435. 3
92090633436. 4

Question Number : 59 Question Id : 9209068459 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

el | & a1 gl 1| 1 e S :

gt gt
(A) BFs () VOB
(B) XeF, () Udhae gt
(o I () FBeds W@y
(D) WFs (v) ¥Eg

A fou U f[dsedl 7 9 9el IO &1 994 Hifae:

(1) (A)-(IV), (B)-(lIN), (©)-(I1), (D)-(1)
(2) (A)-(I), (B)-(IV), (C)-(I1), (D)-(1)
(3) (A)-(1), (B)-(1), (C)-(IN), (D)-(IV)
(4) (A)-(D), (B)-(IV), (C)-(lD), (D)-(II)

Options :

92090633433. 1
92090633434. 2
92090633435. 3
92090633436. 4

Question Number : 60 Question Id : 9209068460 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements ; One ig labelled as Assertion (A) and the other is labelled as

Reason (R).

Assertion (A):  The electron near the top of valence bond have regulative effective mass.

Reasons (R) : d2E/dk?is negative at the valence Bond maxima.

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)

(3 (A) 1= correct but (R) is not correct
(4) (A) iz not correct but (K) is correct
Options :

92090633437. 1
92090633438. 2
92090633439. 3
92090633440. 4

Question Number : 60 Question Id : 9209068460 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

iﬁa’rﬁgﬁﬁqwiwa{ﬁwmssemm A) & ¥4 H ff@d g o g1 39& HIRUT (Reason R)
o

HUFYA A AT T F GHY FAGEH BT WUTE UR THRIAS gial g

ﬁ:i fep it der= dy diead W FHRIS giell 2|

IWied $UA & HTadiep H, Hid fou e fawedl § 9§ 98 Iuged I &1 904 Hife

(1) ASRREAI TS E AR R A DI UL AEN &

(2)  A3MRR I GEE AfFA R, A P U TS G ©
(3) AWEE Ol RS T &

(4) ATETEE APIRTEI B

Options :

92090633437. 1
92090633438. 2
92090633439. 3

HRUTR:




92090633440. 4

Question Number : 61 Question Id : 9209068461 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(ziven below are two statements ;

Statement [ :  IgE is involved in allergic and hypersentivity reactions.

Statement 11 . IgE is the most abundant antibody of all antibodies.
In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement I and Statement I1 are true
(2) Both Statement I and Statement I are false
(3) Statement I is true but Statement II is false

(4) Statement I is false but Statement I is true

Options :

92090633441. 1
92090633442. 2
92090633443. 3
92090633444. 4

Question Number : 61 Question Id : 9209068461 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3 4 FA iU &

Y| IgE Tell ayl Nfa gurigan fsareh & |ftyed gt g1
FUYAI:  IgE WiaeH Tt uider & 999 U gl ¢ |

JURISd FYA & e H, 7 3T 7 fasedt 1§ 8 5! I 994 S

1) USRI aA s
(2) ®YFI R I SE AT R
(3) Y A g, AfhA B I 3T §
(4) Y| MEY ¢, A U | I §

Options :



92090633441. 1
92090633442. 2
92090633443. 3
92090633444. 4

Question Number : 62 Question Id : 9209068462 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Number of sterecisomers possible for the given representation X 1s :
CH,

OL
OH
OH

CH, X

(1) 1 (2) Z
(3) 8 (4 3

Options :

92090633445. 1
92090633446. 2
92090633447. 3
92090633448. 4

Question Number : 62 Question Id : 9209068462 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fedr ma x wfaffd &t Gurdt Bifenwaagad 8 9d g
CH,

OH
OH
OH

CH, X
(1) 4 (2) 2
(3) 8 (4) 3

Options :
92090633445. 1



92090633446. 2
92090633447. 3
92090633448. 4

Question Number : 63 Question Id : 9209068463 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The Distance between nearest neighhours in a BCC lattice in terms of lattice constant a, is
given as:

(1) a (2) —a

{l

(3) - (4)
2z

Options :

92090633449. 1
92090633450. 2
92090633451. 3
92090633452. 4

Question Number : 63 Question Id : 9209068463 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T USRI % s BCC Wil B, et fRis = & faar wran €

M a o B,
2
| a
(3) — 4) =
N/ 2
Options :

92090633449. 1
92090633450. 2
92090633451. 3
92090633452. 4

Question Number : 64 Question Id : 9209068464 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Heparin and histamine are released by:

(1) Eosinophils (2) Lymphocytes
(3) Basophils (4) Neutrophils
Options :

92090633453. 1
92090633454. 2
92090633455. 3
92090633456. 4

Question Number : 64 Question Id : 9209068464 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

feaR auT g 4 g1 818 W §1

(1) geifFha (2) fermrEmEe
3) SHiftea (4) ggiftpa
Options :

92090633453. 1
92090633454. 2
92090633455. 3
92090633456. 4

Question Number : 65 Question Id : 9209068465 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



(Given below are two statements :

Statement [ 1 Ueff for (COFg)! - complexion is 3.89 Bm.

Statement 11 :  Magnetic moment for the pair of complex ions [Co (H20):]** and [NiFs]*

will be same.

In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement I and Statement [I are true

(2) Both Statement I and Statement [I are false

(3 Statement [ is true but Statement I is false
(4) Statement I is false but Statement I1 is true
Options :

92090633457. 1
92090633458. 2
92090633459. 3
92090633460. 4

Question Number : 65 Question Id : 9209068465 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR ey
DYl . (COFe)' - TYg 319 & ferd aR®
FYAN:  wifed AR Y [Co (H20)e]* TUT [NiFg):- Sis & [ TRl aeu 991 g
JIWiad HYH & ATaie H, i feu 1 faswmedl # T Ogt 393! 994 St
(1) @I ARSI TTE
2)  HYAI AR I I B
(3) HYF T g, Al HuH Il 3T ®
(4)  ®YF | A g, Afh YT I I &
Options :
92090633457. 1
92090633458. 2

92090633459. 3
92090633460. 4



Question Number : 66 Question Id : 9209068466 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(Given below are two statements ;

Statement [ :  The electron near the bottom of conduction Band have positive effective
mass.
Statement I1 :  The curvature of d*E/dk? is positive at conduction Band maxima.

In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement I and Statement I1 are correct

(2) Both Statement I and Statement [I are incorrect

(3 Statement [ is correct but Statement I is incorreet
(4) Statement I is incorrect but Statement IT is correct
Options :

92090633461. 1
92090633462. 2
92090633463. 3
92090633464. 4

Question Number : 66 Question Id : 9209068466 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fag ey fliume:

HYT ;e U U S G SeeeH H YHIE wIfd YT gead T B

d’E

HYA I : Fmﬁa“rﬁmmmﬂa‘awm|

IR HYA & HTdid |, A iU U fasel 1§ € 98t Suvad! 994 Difag:

(1) SUAI RIS gd

@)  HYFI AR IS AR

(3) @Y g, A Sy 1l AT §
(4) @Y HEA g, Afhd DY I TA

Options :

92090633461. 1
92090633462. 2
92090633463. 3
92090633464. 4

Question Number : 67 Question Id : 9209068467 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The correct statement regarding Enzyvme Inhibition are:

(A) When the inhibitors bind/attaches to the enzyvme by covalent bonds, the inhibition is
irreversible.

{(B) When the inhibitors bind to the enzyme by weak interaction causing reversible
inhibition.

(C) A non-competitive inhibition binds on the active site, altering the shape of enzyme and
active sites are not available for substrates.

(I Competitive inhibitors directly compete with the substrate to bind to the enzyme.

(E) Competitive inhibitors mimics the substrate, competing for the active site.

Choose the correct answer from the options given below :

(1) (A), (B) & (D) only

(2) (A), (B), (D) & (E) only

(3) (A) & (C) only

(4) (B), (C) & (D) only
Options :

92090633465. 1
92090633466. 2
92090633467. 3



92090633468. 4

Question Number : 67 Question Id : 9209068467 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T-SlIgH UHd & &1 H gl YA B 99 B

A O HEHP TORY U HIdce & GRI Sl ¢ 9&H HIahHuid il ¢ |
B. U U-aI3H ¥ HeH® &fiv frameiie a1 & S[sdl 81 ol fgavw 9gHd &l §

U Ayfdril UeHE Iied I IR Jdl §, Yl TARH & HIPR 31 deadl ¢ AR Tgd Sl
Hfea wge framer % fog Suas 2 S 2

D. ufcant gem® Htd fhaurR, Tongd € S gd Wi & g
£ wioanf aese R & A6 S Sind ®IF IR 98- &1 Uil &l |

e fou U faswed & | U1 SR &1 95 B ;

(1) Had A BTYUIETH
(2) HAdd A B, D AUIEHHA
(3) hdd ATYIC HE
(4) Had B, C AU EHHA
Options :
92090633465. 1
92090633466. 2

92090633467. 3
92090633468. 4

Question Number : 68 Question Id : 9209068468 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are three compounds A, B and C. Meso form compound(s) is/are:

CH, CH,

e I S
CH,CH, CH,
(A) (B) (C)
() (A)only (2) (C)only
(3) (B) & (C) only (1) (B)only

Options :



92090633469. 1
92090633470. 2
92090633471. 3
92090633472. 4

Question Number : 68 Question Id : 9209068468 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fed a3 ugnif A, g auT C B Tor a@wn &1 909 S

CH, CH,
H— OH H —— Br )
H.C ('H.
H—OH Br—H 3™y i
CH,CH, CH,,
(A) (B) (©)
() PIAA (2) Hadc
(3) BdYT CHHA @) PadAB
Options :

92090633469. 1
92090633470. 2
92090633471. 3
92090633472. 4

Question Number : 69 Question Id : 9209068469 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The Density of states of electron having energy £ in Three Dimensional (3D), depends on
energy € as:

1 e (2 «
(3) Independent of (4) et
Options :

92090633473. 1
92090633474. 2
92090633475. 3
92090633476. 4



Question Number : 69 Question Id : 9209068469 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Sl aTel SAde B U D1 AT 3T@! At AT (30) R H Shuil W AR &t B

(1 e 2 e
3) e WARAE (4) &2
Options :

92090633473. 1
92090633474. 2
92090633475. 3
92090633476. 4

Question Number : 70 Question Id : 9209068470 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Cellulose is not digested in human digestive system because:

(1) It contains o 1,4 glucosidic bond {2) It contains al,6 glucosidic bond
(3) It contains B 1,4 glucosidic bond (4) It contains B 1,6 glucosidic bond
Options :

92090633477. 1
92090633478. 2
92090633479. 3
92090633480. 4

Question Number : 70 Question Id : 9209068470 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Ui OHd reE oF R ara-eiia g1 ¢ i -

(1) T o, 4 - THEREH TH gl ¢
(2) T w1, 6 - D HReE a4 gdl |
(3) TUHR., 4-TIDRSE S g B
(4)  TEHP.1, 6 - TADERISD IH B €

Options :
92090633477. 1
92090633478. 2



92090633479. 3
92090633480. 4

Question Number : 71 Question Id : 9209068471 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(Given below are two statements :

Statement [ :  EAN of the central metal atom / ion in [Ni(CO)4] and [Fe(CN)g]* is 36
each

Statement 11 : IUPAC name of the complex Na[|Ag(CN)z] is sodium cyanidoar
gentate(l).

In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement I and Statement [I are true

(2) Both Statement I and Statement [I are false

(3 Statement [ is true but Statement I is false
(4) Statement I is false but Statement I1 is true
Options :

92090633481. 1
92090633482. 2
92090633483. 3
92090633484. 4

Question Number : 71 Question Id : 9209068471 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



H ST ey R #:

FUA| ;. DB4IY YT AT YIHIY BT EAN, [Ni(CO)a) TUT [Fe(CN)e]* TI® B
FUTI:  Na[Ag(CN).] T & 7 Tifsaq TSI ReHe (1) 2
JURIad Y & 3Heild H, Hid iy 1 fashedl 8 4 98t Jaid! 99+ Hiflt:

(1) @ISR NS Td e

(2) HUFI AR I EFT A

(3) YT g, Afh FYA Il 3§
(4) T HEIE, AfbT U I T E

Options :

92090633481. 1
92090633482. 2
92090633483. 3
92090633484. 4

Question Number : 72 Question Id : 9209068472 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement | :  In a point mutation where purine is replaced by pyrimidine or vice versa

it is called Transition.

Statement 11 :  In a point mutation where purine base is replaced by purine hase or vice

versa, it called Transversion.
In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement I and Statement IT are true

(2) Both Statement I and Statement Il are false

(3) Statement I is true but Statement I is false
(4) Statement [ is false but Statement 11 is true
Options :

92090633485. 1



92090633486. 2
92090633487. 3
92090633488. 4

Question Number : 72 Question Id : 9209068472 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g wyE fRr e :
YA gmmﬁqﬂﬁmﬁmﬁm-aﬁmﬁsﬁmﬁﬂmm
|

YN U fag IaRad B o &1 A 8 Sqadi ¢ ol 3 38 Jeel HTURA FHedrd |
JUIH HUA & el H, i iU U faseadl & § 981 It 994 it

(1) USRI gd R

2) HYFI RIS AT T

(3) Y G B, A FUH 1 3§
(4) Y| MEY ¢, dlb U 1 §AE

Options :

92090633485. 1
92090633486. 2
92090633487. 3
92090633488. 4

Question Number : 73 Question Id : 9209068473 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given are potential energy diagrams for the reactions I & II. The reactions which will show
the least increase in rate for a given increase in temperature is :

B B

o oy

@ a

= =

= =

! et

[= =

(28] bl

S <!

By A

Reaction | Reaction 11

(1 Reaction I forward (2) Reaction I backward
(3 Reaction I forward (4) Reaction II backward

Options :

92090633489. 1
92090633490. 2
92090633491. 3
92090633492. 4

Question Number : 73 Question Id : 9209068473 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

?}A{H?Hatnn e Sl fomt g2t 21 o o 0 o 9fs W 9ad &1 afs g 39 9a4
|

; ;
‘ :

(1) fobar| Mm@t 3R (2) Toban | dies &1 3R
(3)  Teharn M &t AR (4) Toan i diss &t 3R
Options :

92090633489. 1
92090633490. 2
92090633491. 3
92090633492. 4

Question Number : 74 Question Id : 9209068474 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

According to plank’s Radiation law the average energy per oscillator 1s:

hu ) hu
. he h
[d'} E: En‘.'n' h _i [:-l:. E = E.F.I i) +1

Options :

92090633493.
92090633494.
92090633495.
92090633496.

N O R S R

Question Number : 74 Question Id : 9209068474 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
e fafdor Rigia & S ER Ui Sia- oifd &l ¢

h hu
Y e 0 e
ho ho
3 E=—"brr— 4 E=——
l: } EJ«..‘ his _1 ( } E.‘u’ LT +|.

Options :

92090633493. 1
92090633494. 2
92090633495. 3
92090633496. 4

Question Number : 75 Question Id : 9209068475 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Michaelis Menen constant (Km) is equal to:

(1) Substrate concentration at which the rate of reaction is maximum.
(2) The rate of reaction.
(3) The rate of enzymatic activity.

(4) Substrate concentration at which the reaction attains half of its maximum velocity.



Options :

92090633497. 1
92090633498. 2
92090633499. 3
92090633500. 4

Question Number : 75 Question Id : 9209068475 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AR ery fHed R (K.) Fu & R -

(1)  TorunuR $t 98 Gigar o R foean @1 nfg gaifis g
2) Torm s

3) TEH Pm PR

@)  Torarem gigar o w S et aiftean T1fa & 219 &1 U &3 ol 2

Options :

92090633497. 1
92090633498. 2
92090633499. 3
92090633500. 4

Question Number : 76 Question Id : 9209068476 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
[Cr(NH32)1(NO2)2] Cl complex can exhibit:

(A) Ionization isomerism.
(B
(C
(
(

o’

Linkage isomerism.

Geometrical isomerism,

e’

[B)] Optical isomerism.

E) Co-ordinate izomerism.

Choose the correct answer from the options given below :

(1) {A), (B) & (C) only

(2) {A), (B) & (E) only

(3) (A), (C), (D) & (E) only

(4) {A), (C) & (D) only
Options :

92090633501. 1



92090633502. 2
92090633503. 3
92090633504. 4

Question Number : 76 Question Id : 9209068476 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[Cr (NH3); (NO,).]Cl T8 1w g2ifar g1

A HTHIPd qHEgd

B. [feidsl Toragadn

c. By gaEgad
D. Sffichd gHIGgadl

E.  @I-3RfS-C gaEgdd

i fau U fasedt § 4 981 I &1 997 SHifoiu -

(1) <HddA BAYICHHA
(2) HAdA BAYIETH
(3) HddB,C, DAYEHAH
(4) HIAA CTUDHAHA

Options :

92090633501. 1
92090633502. 2
92090633503. 3
92090633504. 4

Question Number : 77 Question Id : 9209068477 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The representation [/
meso-2, 3-dichlorobutane is:

CH,
H——Cl

1 ga-q
CH,
Cl

: H—{-CH,

®  nL-cm,
Cl

Options :

92090633505. 1
92090633506. 2
92090633507. 3
92090633508. 4

the

following that does not

Cl CH,
H 1

represent

Question Number : 77 Question Id : 9209068477 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

5 o WEAr o fRdl-2, 3-SRaaRisge &1 8 et g1

CH,
H—— (1
S A ® o e
CH,
Cl
H— CH,
@  ulom,
Cl

Options :

92090633505. 1
92090633506. 2
92090633507. 3
92090633508. 4

=

(4)

CH,
H—Cl
H—— CH,
Cl

H

Cl—+CH,
H——Cl
CH,

Question Number : 78 Question Id : 9209068478 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

If X, Y and Z represent the magnitudes of Electromagnetic, Gravitational and Nuclear forces
between two electrons at a given separation, then

(1) Z=X=Y 2) X=¥Y=2
(3) X=Z=>Y 4) Y=2>X
Options :

92090633509. 1
92090633510. 2
92090633511. 3
92090633512. 4

Question Number : 78 Question Id : 9209068478 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fomaft R AR X, ¥ TYT Z 1 3deH & 00 F 3Yd THES 1, TEdpyug aul S5d g a9al 31
wﬁ%a‘raﬂ'&i “

WIS’ &1 & H B -
(1) Z=X=Y (2) X>¥Y>Z
(3) X=ZsY 4) Y>Z>X
Options :

92090633509. 1
92090633510. 2
92090633511. 3
92090633512. 4

Question Number : 79 Question Id : 9209068479 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The mutation caused by transfer at hydrogen from one position to other in a nitrogen base is
called:

(1) Transition (2) ‘Transversion
(3) Tautameric shift (4) ‘Translocation
Options :

92090633513. 1
92090633514. 2
92090633515. 3
92090633516. 4



Question Number : 79 Question Id : 9209068479 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

amhaﬂ%ﬁmﬁﬂﬁﬂﬁﬂmmﬁmﬁﬁﬁﬁﬁﬂ?ﬁwwmmm*%
Pedld el

(1)  HHHU (2) SFIURE
(3) Tlemie fdwmge (4) TFTERT
Options :

92090633513. 1
92090633514. 2
92090633515. 3
92090633516. 4

Question Number : 80 Question Id : 9209068480 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement | : [CoClz(NHz)z] with Ag NOs solution gives white precipitate.

Statement |l : [CoClz{NHz)z] can show optical isomerism.

In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement | and Statement Il are correct

(2) Both Statement | and Statement Il are incorrect

(3) Statement | is correct but Staterment |l is incorrect

(4) Statement | is incorrect but Statement Il is correct
Options :

92090633517. 1
92090633518. 2
92090633519. 3
92090633520. 4

Question Number : 80 Question Id : 9209068480 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e &1 Py QU &

FUA| : [COCI:(NH3)s] 4T 38T AgNO; HId & |1y &al g1
FUTI:  [COCL(NH:):] "HPEHa TRl S2idl g1
JUiad By & 3HTdie H, Hid 4T 70 fdbed] § T et Iaid! 9+ S

(1) ISR ISHIa R

2) USRI SH s R

(3) @Y | O g, A By Il A ©
(4) T A AP I TI

Options :

92090633517. 1
92090633518. 2
92090633519. 3
92090633520. 4

Question Number : 81 Question Id : 9209068481 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Major Product ‘X’ obtained in the following sequence of reactions is:

C=CH
(i) NaNH,
i) H4C CH,I oy
4 (iii) H,-Pd.BaSO,  major product
H.( 2 4
CH=CH-CH, HC=CH,
(1) (2)
H,C H,C CH,CH,
”‘\-\(1=“;‘” ”““x(!l.f“':{'”-s
S CH,CH, ~u
(3) (4)
H,C HL, ¢
Options :

92090633521. 1



92090633522. 2
92090633523. 3
92090633524. 4

Question Number : 81 Question Id : 9209068481 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
1 foran 1 § 99 a1 §B 3drE X 9 8 8 99 @Y

C=CH
@) NaNH,
(i) H,C CH,1 oy
0.C (iii) H, -Pd.BaSO, q8 3diq
g
CH=CH-CH, HC=CH,
(1) 2)
H,C H,C CH,CH,
He,  _-H He, _-CH,CH,
C=0C C=(
S CHL,OH, SH
(3) (4)

H.,C H,C

Options :

92090633521. 1
92090633522. 2
92090633523. 3
92090633524. 4

Question Number : 82 Question Id : 9209068482 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If the magnetic field in applied perpendicular to the Direction in which holes drifts in P — type
semiconductor Bar, then ratio of Hall coefficient and the resistivity will be:

(1) Resistance (2) Capacitance
(3 Mohility (4) Drift Velocity
Options :

92090633525. 1



92090633526. 2
92090633527. 3
92090633528. 4

Question Number : 82 Question Id : 9209068482 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

BT SIHRRIE qur WiaAHdl & 3urd &1 =04 S dfe graeia &7 p ey sifErs ¥ | geod
fersl b fom & ervarad @ i g

(1) wieRY (2) i
(3) ERIEEIGG (4) Tgpid
Options :

92090633525. 1
92090633526. 2
92090633527. 3
92090633528. 4

Question Number : 83 Question Id : 9209068483 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In a trihybrid cross AaBbRr x AaBbRr the proportion of offsprings having aabbrr is:

(1) 1/8 (2) 116
(3) 1/64 (4) 1/256
Options :

92090633529. 1
92090633530. 2
92090633531. 3
92090633532. 4

Question Number : 83 Question Id : 9209068483 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Udh e UHdHE AaBbRr x AaBbRr B aabbrr @1 3F[Urd |azd! | - grm|

(1) 1/8 (2) 1/16
(3) 1/64 (4) 1/256

Options :



92090633529. 1
92090633530. 2
92090633531. 3
92090633532. 4

Question Number : 84 Question Id : 9209068484 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement [ : Oxidation state of Ni in Ni (C0O), is two.

Statement 11 . Synergic bonding takes place in metal carbonyl complexes.

In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement I and Statement II are true

(2) Both Statement I and Statement [1 are false

(3 Statement [ is true but Statement 11 is false

(4) Statement [ is false but Statement I1 is true
Options :

92090633533. 1
92090633534. 2
92090633535. 3
92090633536. 4

Question Number : 84 Question Id : 9209068484 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



CIEC2ICACL R -

FTUAI ;. [Ni (CO)) B Ni B &1 Saidd TR Bl B
T Uiiad SEi-e T9g § Gefhard v g 2
IS YA & Helld 5, Aid fGu e fdwmedl 8 9 98l I 994 S

(1) SUAI RIS ad

2) HYFI AR I S 3

(3)  HY I g, b YA Il ST ©
(4) T HET ¢, Ui U I TA©

Options :

92090633533. 1
92090633534. 2
92090633535. 3
92090633536. 4

Question Number : 85 Question Id : 9209068485 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If magnesium spoon is dipped in an aqueous solution containing Ca(INQOs): and Ag NOs, then

(1) Mg is oxidized (2) Ag'isreduced
(3) Ca%* is reduced (4) loss in the mass of the magnesium spoon
Options :

92090633537. 1
92090633538. 2
92090633539. 3
92090633540. 4

Question Number : 85 Question Id : 9209068485 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
g ARy 9u0E &1 Ca(Nos), 94T AgNO; & STelid it & Slefd & al -

(1) Mg adiFd gl (2) Ag* A g
(3)  Ca® AGHIHd § (4) TEARTE 99d | YR &1 3™

Options :



92090633537. 1
92090633538. 2
92090633539. 3
92090633540. 4

Question Number : 86 Question Id : 9209068486 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The shape of fermi — Divae Distribution function at T = O and E<Er is:

(1) Circular (2) Elliptical
(3) Straight line (4) Rectangular
Options :

92090633541. 1
92090633542. 2
92090633543. 3
92090633544. 4

Question Number : 86 Question Id : 9209068486 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HHI S135d® [daTuie T = 0 AT E < E B

(1) FOPR (2) didgaeR
(3) i (4) SMOABR
Options :

92090633541. 1
92090633542. 2
92090633543. 3
92090633544. 4

Question Number : 87 Question Id : 9209068487 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The organism which do not show polyeistronic genes is:

(1) E. coli (2) Lactobacillus bulgericus
(3) Aspergillus nigar (4) Agrobacterium rhizogans




Options :

92090633545. 1
92090633546. 2
92090633547. 3
92090633548. 4

Question Number : 87 Question Id : 9209068487 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gifeftier=es i =1 i arar oitd |
(1) S-PEE (2) CECIEYTE gamied
(3)  TERREE AR (4) UREfRREg

Options :

92090633545. 1
92090633546. 2
92090633547. 3
92090633548. 4

Question Number : 88 Question Id : 9209068488 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List T with List IT :

List I List IT
Complexes Type of isomerism
{A) [Co (NHas)s Bre] (I} Optical isomerism
(B) [Co (en)s] CI: (ITYy Co- ordination isomerism
(C) [Co(NHa)s (S04)] Br (III) Geometrical isomerism
(D) [Co(NHz2)s [Cr(CN)s] (IV) Ionization isomerism

Choose the correct answer from the options given below:

(1) (A)-(IV), (B)-(I11), (C)-(IT), (D)-(I)

(2) (A)-(IID), (B)-(I). (C)-(IL), (D)-(IV)

(3) (A)-(1IL), (B)-(I), (C)-(IV), (D)-(1I)

(4) (A)-(IV). (B)-(IT). (C)-(I). (D)-(I1T)
Options :

92090633549. 1
92090633550. 2
92090633551. 3



92090633552. 4

Question Number : 88 Question Id : 9209068488 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

G | & | g 1| 1 A S ;

Tdl-| (F3) Gdl-Il (FHEGEEdT T UHR)

(A)  [Co (NHs); Bry] () 2nPHd HEGd
(B) [Co (en)s] Cl: (1) T S-IH FHEITdT
(€) [Co(NHs)s (SO Br )  FEeaihdE SeEEged
(D) [Co(NHs)g [Cr(CN)g] (IV) HE-Igd FHEgdd
i fgu e fas el & 8 9l 3R &1 99 Bifelt:

(1) (A)-(IV), (B)-(ll1), (C)-(1N), (D)-()

(2)  (A)-(), (B)-(1), (C)-(I1), (D)-(IV)

(3)  (A)-(I), B)-(1), (C)-(IV), (D)-(I)

(4)  (A)-(IV), (B)-(I1), (C)-(1), (D)-(1N)

Options :

92090633549. 1
92090633550. 2
92090633551. 3
92090633552. 4

Question Number : 89 Question Id : 9209068489 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In the Fresnels class of diffraction the type of Lens blaced between source of light and the
screen is:

(1) Concave lens (2) Convex lens
(3) No lens (4) Plano convex lens
Options :

92090633553. 1
92090633554. 2
92090633555. 3
92090633556. 4



Question Number : 89 Question Id : 9209068489 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

hd 9o faad® § A TSR &1 -9 U & Wid 741 U8 & He am) ol g

(1)  o[Edd od (2) IOd o9
(3) iy o gl (4) THITA o9

Options :

92090633553. 1
92090633554. 2
92090633555. 3
92090633556. 4

Question Number : 90 Question Id : 9209068490 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List II :

List 1 List IT
Complex Geomenre & Hybridization
(A) Ni(CO) () Octahedral, d2sp?
(B) [MIi(CN)]* (I) Tetrahedral, sp?
(C) [Fe(CN)g] (IIT) Square planer, dsp*
(D) [MnFg]* (IV) Octahedral, spid:

Choose the correct answer from the options given below:

() (A)-(ID), (B)-(III), (C)-(IV), (D)-(T)
(2)  (A)-(D, (B)-IID, (©)-(D), (D)-IV)
(3)  (A)-(UD, (B)-(ID), (C)-(D), (D)-(IV)
(4) (A)-(IV), (B)-(11), (C)-(I1I), (D)-(I)

Options :

92090633557. 1
92090633558. 2
92090633559. 3
92090633560. 4

Question Number : 90 Question Id : 9209068490 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

el | & |1 gl 11 1 Far S ;

-1 (JE) gdi-in (Ereaafa qur o)

(A)  Ni(CO)q () HFBPH, disp’
(B)  [MI(CN)J* () IJEhdD, sp?
(C)  [Fe(CN)s] ()  TBR FHAd, dsp?
(D)  [MnFg* (V) SFHABI, sp’d’
9 fau 71u fasedi & ¥ Hel IR &1 9g4 il
(1) A)-(11), (B)-(), (C)-(IV), (D)-(1)

1) (1}, (D)}-(IV)

(3)
(4)

A)- (1), (B)-(1), (C)-(1), (D)-(IV)
A)-(IV), (B)-(I1), (C)-(1N), (D)-(1)

(A)-( )%
(2) (A)-(11), (B)-(11), (C)-
(A)-( )5
(A)-( "

Options :

92090633557. 1
92090633558. 2
92090633559. 3
92090633560. 4

Question Number : 91 Question Id : 9209068491 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The experiment that shows Demonstration of the Existence of Discrete Energy Levels is:

(1) Photoelectric Effect (2) Compton Effect
(3 Franck- Hertz model (4) Stark Effect
Options :

92090633561. 1
92090633562. 2
92090633563. 3
92090633564. 4

Question Number : 91 Question Id : 9209068491 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



I GRI&] &1 994 B o fafged ol T &1 Iufeufa &1 g2iiar mar a1

(1)
(3)

UHTLAG AT UHTE (2) HET UUE
Thh-goo Aled (4) Wb UHE

Options :

92090633561. 1
92090633562. 2
92090633563. 3
92090633564. 4

Question Number : 92 Question Id : 9209068492 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify correct matches given below.

(1)
(B)
(C)
(D)
(E)

Set of only covalently bonded molecules — BCls, SiCls, PClz
Correct order of Lattice energy- NaBr < NaCl < BaO < Ca0
Lattice energy — AlF; < MgF;

Trigonal plana geometry — COs>, NO3, SO;

Polar species — SOz, BF3, SClz

Choose the correct answer from the options given below :

(1)
(2)
(3)
(4)

(B), (C), & (D) only
(A).(B), & (D) only
(A),(B), & (E) only
(B) & (E) only

Options :

92090633565. 1
92090633566. 2
92090633567. 3
92090633568. 4

Question Number : 92 Question Id : 9209068492 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



GEEIEEIEEEET

had Hlda-e g1 §ils - BCls, SiCla, PCls

STl FHoll &1 Hel & IS - NaBr < NaCl < BaO < CaO
WTe &l - AlF; < MgF,

ol et Bearffa -cos>, No;, SO,

¢fdTg Ui - SO, BF3, SClz

=ire fou U faswedi H | TEl IR &1 99 DI -

(1) dd B, CAYID THA
(2) AW A BTYIDHAHA
(3) had A BUYTEHHA
(4)  Had B dYUTE A

m g N =P

Options :

92090633565. 1
92090633566. 2
92090633567. 3
92090633568. 4

Question Number : 93 Question Id : 9209068493 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The total Energy of Hydrognic atoms E value with atomic number Z as:

(1) E«Z (2) E« Z3
(3) E o« 72 (1) Ee«x Z*
Options :

92090633569. 1
92090633570. 2
92090633571. 3
92090633572. 4

Question Number : 93 Question Id : 9209068493 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



BTG SI-d TRHIVS @ $d Sl £ IHIY] W8T Z & Al &9 3 agad g

(1) ExZ (2) ExZ?
(3) EaxZ2 4) ExZ”
Options :
92090633569. 1
92090633570. 2

92090633571. 3
92090633572. 4

Question Number : 94 Question Id : 9209068494 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements ; One ig labelled as Asszertion (A) and the other is labelled as

Reason (R).

Assertion (A):  Correct order for ionisation energy is K* > Ca®** > Cl~ > §&

Reasons (R) : For isoelectronic species the ionisation energy varies with zeff.

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)

(3 (A) is correct but (R) is not correct
(4) (A) is not correct but (R) is correct
Options :

92090633573. 1
92090633574. 2
92090633575. 3
92090633576. 4

Question Number : 94 Question Id : 9209068494 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



?aﬁﬁﬂﬂmm%’:@&ﬁi@ﬂﬂ{ﬂsgeﬂion A) & ¥4 ¥ faf@d § o g1 3d BRI (Reason R)
=0

HYFUTA - ATHIBI0 Foll BT TSI FHE
Kisitatra o s st

HRUR : TH Soiael-1d Ut @1 S0 Sull Zeff & T1Y S5adi o
JURIGd HYA & 3Taileh H, i 14U U fadbedi H§ ¥ 998 Iugad IR &1 99+ Hiferg

(1) ASMRRGH Helg 3R R A DI T RS §

(2) A 3RRGH G E, AP R A Bl TE AR TRl §
3) AU AFTRIUS TR

(4) A HEIEl g, b1 R TS &

Options :

92090633573. 1
92090633574. 2
92090633575. 3
92090633576. 4

Question Number : 95 Question Id : 9209068495 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The internal energy (U) of the gas is partly kinetic and partly potential which is generally the
relation:

(1) U+ GT (2) U=CyT+alv
(3) U=CvT —alv (4) U=0CvT=
Options :

92090633577. 1
92090633578. 2
92090633579. 3
92090633580. 4

Question Number : 95 Question Id : 9209068495 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



E;Haﬁ&maﬂfaﬁﬁﬁﬂﬁﬂﬁaw&ﬁﬁﬁﬂﬁﬁmﬁ?ﬁ%ﬁﬁﬁuﬂﬁm
[

(1) U=CvT (2) U=CvT+af
(3) U= CvT -a/v () U=CvT?
Options :

92090633577. 1
92090633578. 2
92090633579. 3
92090633580. 4

Question Number : 96 Question Id : 9209068496 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The correct sequence of elements in increasing order of electro negativity is:

(A) P
(B) Si
(C) N
(I C

Choose the correct answer from the options given below :

(1) (B). (D).(A), (C)

(2) (A), (B), (C), ()

(3 (I, (C), (B)., (A)

(4) (B), (A), (D), (C)
Options :

92090633581. 1
92090633582. 2
92090633583. 3
92090633584. 4

Question Number : 96 Question Id : 9209068496 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090633581. 1
92090633582. 2
92090633583. 3
92090633584. 4

Question Number : 97 Question Id : 9209068497 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The Theoretical value of poission’s ratio lies between:

(1) -land (2) -land-2
i3) -1 and 0.5 (4) -0.5 and +1
Options :

92090633585. 1
92090633586. 2
92090633587. 3
92090633588. 4

Question Number : 97 Question Id : 9209068497 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A U o @1 Sf-d A9 9 & <R gl g

(1) =1d410 (2) =14dYr-2
(3) -1 d41 0.5 (4) =059l +1

Options :



92090633585. 1
92090633586. 2
92090633587. 3
92090633588. 4

Question Number : 98 Question Id : 9209068498 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Correct increasing order of ionic size for the following species is:

(A) Mg2+
(B) Na+
© 05
® N3
(E) F~

Choose the correct answer from the options given below :

(1) (A), (B), (D), (C), (E)
(2) (A (B), (E), (0), (D)
(3) (E), (C), (D), (B), (A)
(4) (D), (C). (E), (B), (A)

Options :

92090633589. 1
92090633590. 2
92090633591. 3
92090633592. 4

Question Number : 98 Question Id : 9209068498 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090633589. 1
92090633590. 2
92090633591. 3
92090633592. 4

Question Number : 99 Question Id : 9209068499 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Domain Theory explains the magnetic properties of:

(1) Diamagnetic Materials (2) Paramagnetic Materials
(3 Ferromagnetic Materials (4) Multiferoic Materials
Options :

92090633593. 1
92090633594. 2
92090633595. 3
92090633596. 4

Question Number : 99 Question Id : 9209068499 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090633593. 1
92090633594. 2
92090633595. 3
92090633596. 4

Question Number : 100 Question Id : 9209068500 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements ;

Statement | : Transition elements exhibit variable oxidation states.

Statement I :  Transition elements do not show catalytic activity.
In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement I and Statement I are true

(2) Both Statement I and Statement I1 are false

(3 Statement I is true but Statement 11 is false
(4) Statement I is false but Statement II is true
Options :

92090633597. 1
92090633598. 2
92090633599. 3
92090633600. 4

Question Number : 100 Question Id : 9209068500 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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92090633597. 1
92090633598. 2

92090633599. 3
92090633600. 4



